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‘ PART A: Vocabulary g

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes
each sentence. Then mark the correct choice on your answer sheet.

1-  What was intended as a peaceful demonstration rapidly ----- ----- into violence.

1) agitated 2} degenerated 3) preceded 4) discriminated
2-  The Democratic Party ------———- 70 percent of the vote.

1) garnered 2) esteemed 3) obligated 4) assembled
3- Some animals can ------—---- very high temperatures.

1) detach 2} submit 3) obstruct 4) withstand
4- Researchers have discovered that up to one half of all children born of alcoholics are

genetically ---------= to alcoholism.

1) discerned 2) apprehended 3) predisposed 4) impressed
5- Communication via the Internet gives an important -----——-- to international trade.

1) dimension 2) exposure 3) expenditure 4) distribution
6- Lack of childcare facilities can be a major —--———-- for women wishing to work.

1) dispute 2) routine 3).ebstacle 4) contraction
7-  Itis a common - that women are worse drivers than men.

1) essence 2) impetus 3) fallacy 4) amusement
8- The -—-me- for using this teaching method is to encourage student confidence.

1) advent 2) rationale 3) authenticity 4} constitution
9-  The degree of punishment should be ————— to the seriousness of the crime.

1) inclined 2) receptive 3) prominent 4) proportional
10~ Low inflation is the key t0 =—-==—- economic growth.

1) sustained 2) congruous 3) extravagant 4) well-disposed

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or
! (4) best fits each space. Then mark the correct choice on your answer sheet.

Commonwealth of Nations is an international organization composed of independent states,
all of which were part of the British Empire. It was constituted by the Statute of Westminster,
(11) —=mmememe- the British Dominions were recognized as ‘autonomous communities”®, (12) ====---
the British Crown. Since 1947, when India chose (13) ---------- within the Commonwealth, 1t
has consisted of an inereasing number of republics, so that the role of the British monarch, who
is the head of only seventeen (14) ---------- a total of fifty-three member states, is confined
(15) ===mmmeeee head of the Commonwealth. Given that its member states have little in common
apart from a historical tie to the UK, it has rarely been able to influence world affairs, except
perhaps for its leadership on the international imposition of sanctions upon South Africa.

11- 1)so 23 which 3) so that 4) in which
12- 1) binding together 2) bound together by
3) together having bound 4) having bound together
13- 1) to remain 2)remaining 3) for remaining 4 torbe remained
14- 1) by 2) out of 3) within 4) putside
15- 1) for 2) to who 15 3) to that of 4) that she 1s

o g0 b 39 40 o 51 b )5 LMD g JLS1 o9 ST



16~
17-
18-
19-

20-

.\&)‘ @nu)b’ QQQ}TMG«QM -9 f&nﬁ)&w

AMNIYA el o (Y) (paass g gogel) Sl 4l

Part C. Reading Comprehension

or (4). Then mark it on your answer sheet,

Directions: Read the following three passages and choose the ‘best choice (1), (2), |’3

PASSAGE 1:

Bloactive additives:

In marine environments, especially when submerged, surfaces tend to “foul’, that is,
accumulate deposits and growths of marine organisms such as weed, tube worms, barnacles and
bacteria. Fouling, particularly when heavy, increases the (16) -——=--—--—-- on ships and also
accelerates corrosion, and necessitates expensive periodic dry docking for its removal. To
prevent this, semi-permanent anti-fouling compositions are applied to the surface, these
coatings being applied as a sub-layer beneath the coating systemy They contain toxins that are
poisonous to marine fouling organisms and which are progressively (17) ----------- at a rate
sufficient to inhibit attachment and proliferation of organisms. The commonly used anti-fouling
toxins are mercuric oxide, tributyl tin oxide, metallic copper and copper suboxide. High
addition levels are used to ensure a large reservoir within the (18) ------—=—- :

Paints, particularly water-based emulsions, are susceptible to attack by micro-organisms such
as fungi and bacteria. Apart from the obvious impairment of appearance, paint coatings may
suffer degradation by micro-organisms. Bioactive additives are required to prevent this attack.

Biocides or anti-bacterial agents are incorporated within emulsion paints to prevent bacterial
(and fungal) attack on the thickener, usually a cellulose ether. Biocides function by interfering
with the bacterium’s metabolism, thereby preventing enzyme synthesis, enzymes (rather than
the bacteria themselves) being the active agent in paint degradation. The commonly used
biocides are complex phenol or formaldehyde compounds and sometimes organomercurials,
usually at a level of 0.05-0.3 per cent by weight of the paint. It is important, however, to ensure
during paint manufacture that the raw materials do not contain enzymes, otherwise degradation
will still occur despite the incorporation of a biocide, since the latter has no toxic effect on
ENZYmes.

Fungal growth will contribute to the degradation of a paint coating but more commonly it
impairs its appearance. In certain circumstances there may be an associated health hazard, as in
kitchens, dairies and( breweries. Fungicides are toxic agents that are included in paint
formulations to inhibit the eolonization and proliferation of fungi. A range of toxins is used for
this purpose.

Choose the best answer according to the passage:

1) speed 2) scratch 3) sleepy area 4) frictional drag
1) Composed 2) Deposited 3) Leached out 4) Concentrated
1) Ships 2) Coating system  3) Metal thickness 4) Marine environments
According to the passage, cellulose ether:
1) is an enzyme 2) is attacked by biocides
3) is attacked by thickener 4) is a type of paint coating

According to the passage, one of the disadvantage to have fungal growth on the surface
would be:

1) Danger to health 2) A reduction in gloss

3) change of morphology 4) Degradation of the metalic structure
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PASSAG 1

Mass colour and Tint stnength:

Both mass colour and tint strength of pigments can be regarded as properties which provide
data on colour consistency. Testing of both properties would normally be performed as part of a
quality control on individual pigments prior to use but; in a slightly modified form, such tests
can also be used to provide an indication of the amount of pigment required to produce a given
(21) ==mmmmemmme,

The mass colour of a pigment is obtained by preparing a paste with an appropriate binder and
comparing this with an agreed standard of that pigment. For this determination, it is important
that identical ratios of binder to pigment and also comparable dispersing techniques are used.
Dispersion can be effected by hand, using a spatula to rub out the paste on a glass plate, or with
an automatic muller.

The tinting strength of a coloured pigment is a measure of its ability to colour a standard
paint or pigment. The measurement technique is similar to that of determining (22) ------————--
but with a known amount of the colouring pigment being added to a known weight of a white
pigment or paint. Knowledge of any variation in the tint strength of a pigment can be used to
adjust formulations prior to manufacture, and this is obviously an important factor in reducing
batch rejection rates.

With slight modification, the tint-strength test can be used to provide guidance on the ratios
of pigments required to match a (23) ----------- standard. The weights used can then be scaled
by an appropriate factor for inclusion into the formulation mill base. Colour development is
always greater during production than is obtained during dispersion by hand or muller, and
some reduction in the amounts of pigments added is generally justifies, especially where
organic pigments of high tint-strength are used.

Choose the best answer, according to the passage:

1) shade 2) Gloss

3) Leveling 4) Pigment volume concentration

1) Resin 2) paste 3) Quality 4) Mass colour
1) shiny level of 2} Given colour

3) Given adhesion 4) BPigment volume concentration

According to the passage, a difference in colour:

1) is neglegible

2) is only for organic pigments

3) is not only for organic pigments but also for inorganic pigments

4) Happened during production and provided during dispersion by hand

According to the passage, pigment ability to colour is defined by:

1) colour matching 2} colouring technique

3) the tinting strength 4) spatula to rub out the paste on a glass plate
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PASSAGE 3:

Exposure couditions:

Exposure conditions can subdivided into four categories, namely severe, moderate, mild and
very mild. Clearly, coatings need to be selected and formulated to be able to (26) —----==- === The
most severe atmospheric conditions likely to be encountered in the location of the structure or
article.

Severe conditions are typically total immersion in chemicals or salt water, Coastal situations,
areas of high industrial pollution and areas close to chemical processing plants.

Moderate conditions are found on (27) ----------- in areas of high rainfall and continuous high
humidity in light industrial and urban conditions, rural areas and.inland ‘areas more than about 2
miles distant from industrial conurbations and coastal areas,

Mild conditions are experienced in interiors subject to condensation such as kitchens and
hathrooms, as well as interiors where there is a source of pollution. Very mild conditions are
found in warm dry interiors not subject to condensation or pollution.

In terms of coating performance on steel, the severity of the service environment dictates
both the durability of the coating with respect to (28) ==--------- and the ability of the system to
reduce the corrosion rate of the metal substrate. Under severe conditions, corrosion of steel will
be rapid and readily visible, will disrupt unsuitable coatings and may endanger the safety of the
structure. In such conditions, where severe chemigal attack by polluted atmospheres or liquid
contact 1s expected, coatings of high performance such as chlorinated rubbers, epoxies and
solvent-soluble vinv] resins are frequently used.

In moderate conditions, corrosion may become evident after one or two years’ service and,
although this will normally present no safety risk to the structure, it may be asthetically
unacceptable. In mild and very mild conditionsy comrosion may only become apparent after a
period of several years: however, it is normal practice when formulating paints for steel to
adopt resistance to mild conditions as a minimum requirement.

The ultimate service environment thérefore has major implications in paint formulation, for it
is a basic requirement when painfing steel to reduce the corrosion probability under the
anticipated conditions to an acceptably low level for that situation.

Choose the best answer, according to the passage:

1) Reduce 2) Decompose 3) Improve 4) withstand

1) outdoor exposure 2) Crowded cities 3) Indoor exposure 4) Harsh environment
1) Rust 2) Pollution 3) self- integrity 4) pigmentation
According to the passage, epoxy coating is used in:

1) Mild conditions 2) severe conditions

3) Moderate conditions 4) Warm dry interiors which is polluted

According to the passage, under severe conditions:
1) Corrosion is observed very soon

2) chemicals and salt water are existed

3) eorrosion become apparent after several years

4) gorrosion become evident after one or two years
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